
Correction de l'exercice "possession". 
 

Comme toujours, lisez la correction puis refaites ou améliorez votre exercice 
sans la regarder. Puis corrigez avec la correction. 
 
 

 Tessa is Stuart's wife. 

 Stuart is Tessa's husband. 

 He is Sharon and David's father. 

 Sharon and David are Stuart and Tessa's children. 

 Sharon is Stuart and Tessa's daughter. 

 She is David's sister. 

 David is Stuart and Tessa's son. 

 He is Sharon's brother. 

 Stuart and Tessa are Sharon and David's parents. 


